
1

Assembly manual 



2

A:M8 x 12

B:M8

C:M6 x 12

E:M6 x 12cross

F:M6

G:M5 x 10cross

H:M4 x 8cross

I:⌀5

J:M10 x 70

47U 42U 37U 32U 27U 22U 18U

A:M8X12 16 16 16 16 16 16 16

B:M8 16 16 16 16 16 16 16

C:M6 x 12 96 96 96 96 64 64 64

D:M6 36 36 36 36 24 36 36

E:M6 x 12cross 16 16 16 16 16 16 16

F:M6 48 48 48 48 32 32 32

G:M5 x 10cross 4 4 4 4 4 4 4

H:M4 x 8cross 18 18 18 18 18 18 18

I:⌀5 2 2 2 2 2 2 2

J:M10 x 70 4 4 4 4 4 4 4

Mounting Angle 6 6 6 6 4 4 4

Capacity

QTYITEM

D:M6



3

A:M8 x 12    8PCS 

B:M8   8PCS

A:M8 x 12    8PCS 

B:M8   8PCS

H:M4 x 8   8PCS

C:M6 x 12  24PCS

D: M6   24PCS

C:M6 x 12    48PCS
F:M6    48PCS 

G:M5 x 10cross   4PCS

D:M6 x 12cross  16PCS

J:M10 x 70   4PCS



4

C:M6 x 12    48PCS

D:M6 x 12cross  16PCS

C:M6 x 12    48PCS
F: M6   12PCS

H:M4 x 8cross   10PCS



5

I:⌀5



Front door

Back door
Side panel

6

JC02

JC03

JC04


	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6

